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Inductive boollist : Type :=
| bool _nil
| bool_cons (b : bool) (1 : boollist).
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Inductive list (X:Type) : Type :=
| nil
| cons (x : X) (1 : list X).
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Coq < Check (nil nat).
nil nat
list nat

Coq < Check (cons nat 1 (nil nat)).
cons nat 1 (nil nat)
list nat

Coq < Check (cons bool true (cons bool false (nil bool)))
cons bool true (cons bool false (nil bool))
list bool

EHEEHRE (20 4) November 9, 2021 5/51



B HICL > TN ZE DS nil/cons

Coq < Check (cons nat).
cons nat

> nat -> list nat -> list nat

Coq < Check (cons bool).
cons bool

: bool -> list bool -> lzst bool

TlX, cons DEATORT?
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Coq < Check cons.
cons

: forall X : Type, X -> list X -> list X
cons & TERDE X [CDWT

X -> list X -> list X/
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Inductive list (X:Type) : Type :=
| nil
| cons (x : X) (1 : list X).
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Fixpoint repeat_nat (x : nat) (count : nat): natlist :
match count with
| 0 => nat_nil
| S count’ => nat_cons x (repeat_nat x count’)
end.
Fixpoint repeat_bool (x : bool) (count : nat)
: boollist :

match count with

| 0 => bool_nil

| S count’ => bool_cons x (repeat_bool x count’)
end.

(natlist DA VA NSV Y DAFNIIEZAF L)
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Fixpoint repeat (X : Type) (x : X)
(count : nat) : list X :=
match count with
| 0 => nil X
| S count’ => cons X x (repeat X x count’)
end.
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Example test_repeatl :

repeat nat 4 2

= cons nat 4 (cons nat 4 (nil nat)).
Proof. reflexivity. Qed.

Example test_repeat2 :

repeat bool false 1

= cons bool false (nil bool).
Proof. reflexivity. Qed.
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Coq < Check (repeat nat).
repeat nat
: nat -> nat -> list nat

Coq < Check (repeat bool).
repeat bool
: bool -> mat -> list bool

Coq < Check repeat.
repeat
: forall X : Type, X -> nat -> list X
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Coq < Fixpoint repeat' X x count : list X :=

match count with

| O => nil X
| S count' => cons X x (repeat' X x count')
end.

BBREID repeat & [F UE

Coq < Check repeat'.
repeat’
: forall X : Type, X -> nat -> list X
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Fixpoint repeat’ X x count : list X :=
match count with

| 0 =>nil X
| S count’ => cons X x (repeat’ X x count’)
end.

Check (cons nat 1 (nil nat)).

o ZDFEWVWEDEWEWLWEELL D EAN
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Fixpoint repeat’’ X x count : list X :=
match count with

| 0 => nil _
| S count’ => cons _ x (repeat’’ _ x count’)
end.

Check (cons _ 2 (cons _ 1 (nil .))).
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Arguments nil {X}.
Arguments cons {X} _ _
Arguments repeat {X} x count.

o LIg, NI A—4 X INTEKTEL, EWVWIEE
@ nil ¥ nil _ D, cons | cons _ DT &I B
Definition 1ist123’’ :=

cons 1 (cons 2 (cons 3 nil)).
Check (length 1list1237°°).
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Fixpoint repeat’’’ {X : Type} (x : X)
(count : nat) : list X :=
match count with

| 0 => nil

| S count’ => cons x (repeat’’’ x count’)

end. ]
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Inductive list’ {X:Type} : Type :=
| nil’
| cons’ (x : X) (1 : list’).

&9 BHE, list’ nat EDNEITRLLCARBIDTNG.
= BEHTIEBERLELEZTHLT, JVRANZI5EIFTH
& Arguments CHEE{L T 5.
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Fixpoint app {X :

match 11 with
| nil =>
| cons h t =>
end.

Fixpoint rev {X:

match 1 with

| nil =>
| cons h t =>
end.

Type} (11 12 :
(1ist X)

12
cons h (app t 12)

Type} (1:1list X)

nil

app (rev t) (cons h nil)

list X)

: list X :

o
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Fixpoint length {X : Type} (1 : list X)
: nat =
match 1 with
| nil => 0
| cons _ 1’ => S (length 1°)
end.
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Definition mynil := nil. (¥ nil _ DI &! *) |

o nil NDEBIHEWHBL LD ET BN, ROFHQ
WDTIZ—
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- EVhNEEZXB
Definition mynil : list nat := nil.
- BREZEMNET AL —F 0 =2fES

Definition mynil’ := @nil nat.

EHEEHRE (2D 4) November 9, 2021 24 /51



(P2 &) FERERICDER

AIEEST, ZHEMY X MDIFE, BROSI¥DH -

Tk U THEE!
Notation "x :: y" := (cons x y)

(at level 60, right associativity).
Notation "[ ]" := nil.
Notation "[ x ; .. ; y 1" :=

(cons x .. (cons y [1) ..).
Notation "x ++ y" := (app x y)

(at level 60, right associativity).

Definition 1ist123’’°’ := [1; 2; 3].
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Theorem nil_app_nat :
forall 1:1ist nat, [] ++ 1 = 1.
Proof. intros 1. reflexivity. Qed.

Theorem nil_app_bool :
forall 1:1ist bool, [] ++ 1 = 1.
Proof. intros 1. reflexivity. Qed.
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Theorem nil_app :
forall X:Type, forall 1l:list X,

[J] ++ 1 =1.
Proof.
intros X 1. reflexivity.

Qed.
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Inductive prod (X Y : Type) : Type :=

| pair (x : X) (y : Y).

Arguments pair {X} {Y} _ _.
Notation "( x , y )" := (pair x y).
Notation "X * Y" := (prod X Y) : type_scope.

o BIREBDEMILER X * Y (NMFETIEAW)
o (,) & xDEWVIIER
» (1, true) : nat * bool
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Definition fst {X Y : Type} (p : X * Y) : X :
match p with (x,y) => x end. j
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Inductive option (X:Type) : Type :=
| Some (x : X)
| None.

Arguments Some {X} _
Arguments None {X}.
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Fixpoint nth_error {X : Type} (1 : list X)
(n : nat) : option X :=
match 1 with
| [ => None
| a :: 17 => if n =7 0 then Some a
else nth_error (pred n) 1’
end.

Example test_indexl

nth_error 0 [4;5;6;7] = Some 4.
Example test_index3 :

nth_error 2 [true] = None.
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Definition doit3times_nat
(f:nat->nat) (n:nat) : nat :=
f (f (£ n)).

Example test_doit3times_nat:
doit3times_nat minustwo 9 = 3.
Proof. reflexivity. Qed.
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nat ICBRS Y, BIEERYIEDERNE CEHESRE L
ZEHNTES

Definition doit3times {X:Type}
(f:X->X) (x:X) : X =
f & € x).

Example test_doit3times’:
doit3times negb true = false.
Proof. reflexivity. Qed.
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Fixpoint filter {X:Type}
(test: X->bool) (1:1list X) : (list X) :=
match 1 with

| [] => []
| h :: t =>
if test h then h :: (filter test t)
else filter test t
end.

Example test_filterl:
filter evenb [1;2;3;4] = [2;4].
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OCaml TWD & fun DT &
e OCaml: fun x -> =

e Coqg: fun x => I

LLE.
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Example test_filter2’:
filter (fun 1 => (length 1) =7 1)
[ [1; 2]1; (3]; [4]; [5;6;71; [1; [8]]
= [ [3]; [4]; [8] 1.
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Coq < Check (fun x y => x + y + 1).
fun ¢y : nat => x +y + 1
: nat -> nat -> nat

Coq < Check (fun (x y : nat) => x +y + 1).
funzy : nat =>x +y + 1
: nat -> nat -> nat

Coq < Check (fun (b : bool) (x : nat) =>
if b then x else x + 1).
fun (b : bool) (z : nat) => <f b then z else = + 1
: bool -> nat -> nat
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Fixpoint map {X Y:Type} (f:X->Y) (1:1ist X)

: (list Y) :=
match 1 with
| [] => []
| h :: t = (f h) :: (map f t)
end.
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Example test_mapl:
map (fun x => plus 3 x) [2;0;2] = [5;3;5].

Example test_map2:
map oddb [2;1;2;5] = [false;true;false;truell.

o B £ MBI - RYEDHEILE>TH LW
s TNEN X, Y ICHEE
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Fixpoint fold {X Y:Type}
(f: X->Y->Y) (1:1ist X) (b:Y) : Y :=
match 1 with
| [1 =>b
| h :: t = f h (fold £ t b)
end.

EzZohnk1 0
@ nil I b T
@ cons I& f CEZXH#Z S

» | cons ht=>fh (fold ftb) OAINEZ
BZTWBRELNTS?
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Example fold_exampleO :
fold plus (1 :: 2 :: 3 :: 4 :: nil) O
=1+ 2+ @+ &+ 0)).

Example fold_examplel :

fold mult [1;2;3;4] 1 = 24.
Example fold_example?2 :

fold andb [true;true;false;true] true = false
Example fold_example3 :

fold app [[1];[];[2;3]1;0411 0O = [1;2;3;4].
e [1] ++ [1 ++ [2;3] ++ [4] ++ [] %)

W
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Definition constfun {X: Type}
(x: X) : nat—->X :=
fun (k:nat) => x.

Definition constfun’ (* CNTERL *)
{X: Type} (x: X) (k: nat) : X := x.

Definition ftrue := constfun true.
(* a function that always returns true *)

Example constfun_examplel: ftrue 0 = true.
Example constfun_example2: (constfun 5) 99 = §.
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nat -> (nat -> nat)

o > IE(RT7ED + DEIBRBEDTIFEETF (B
Ha)

@ nat Z V& DR I(THENSD & nat -> nat DE (<FEH!)
7R3 R

o BIHUITIDRERFICHE AR TEH L L

—> BB iE FH (partial application)
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Definition plus3 := plus 3.
Check plus3.

Example test_plus3 : plus3 4 = 7.
(x plus 3 4 (& (plus 3) 4 DT &
DFY, BEERIERE *
Example test_plus3’: doit3times plus3 0 = 9.

Example test_plus3’’
doit3times (plus 3) 0 = 9.
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@ Exercise: poly_exercises (2), split (2), flat_map
(2) currying (2)
o (implicit_args IR FRH)
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